

$$1a \quad \frac{\lambda+11}{(\lambda-1)(\lambda+3)} = \frac{A}{\lambda-1} + \frac{B}{\lambda+3} \Rightarrow \lambda+11 = A(\lambda+3) + B(\lambda-1) \Rightarrow \lambda+11 = (A+B)\lambda + (3A-B) \Rightarrow$$

$$\begin{cases} A+B=1 \\ 3A-B=11 \end{cases} \Rightarrow A=3 \text{ \& } B=-2, \text{ so } \mathcal{L}^{-1}\{F(\lambda)\} = \mathcal{L}^{-1}\left\{\frac{3}{\lambda-1} - \frac{2}{\lambda+3}\right\} = \underline{\underline{3e^t - 2e^{-3t}}}$$

$$1b \quad \frac{2\lambda-1}{(\lambda^2-4\lambda+4)+2} = \frac{2\lambda-1}{(\lambda-2)^2+(\sqrt{2})^2} \Rightarrow \mathcal{L}^{-1}\{F(\lambda)\} = 2\mathcal{L}^{-1}\left\{\frac{\lambda-\frac{1}{2}}{(\lambda-2)^2+2}\right\} = \frac{\lambda-2}{(\lambda-2)^2+2} + \frac{\frac{3}{2}}{(\lambda-2)^2+2}$$

$$= 2\mathcal{L}^{-1}\left\{\frac{\lambda-2}{(\lambda-2)^2+(\sqrt{2})^2}\right\} + \frac{3}{\sqrt{2}}\mathcal{L}^{-1}\left\{\frac{\sqrt{2}}{(\lambda-2)^2+(\sqrt{2})^2}\right\} = \underline{\underline{2e^{2t}\cos\sqrt{2}t + \frac{3}{\sqrt{2}}e^{2t}\sin\sqrt{2}t}}$$

$$2 \quad f(t) = -3 + 8u(t-4) + [-5 + (t-4)]u(t-9) = -3 + 8u(t-4) + (t-9)u(t-9)$$

$$3 \quad \mathcal{L}\{y''\} + 9\mathcal{L}\{y\} = 10\mathcal{L}\{e^{2t}\} \Rightarrow \lambda^2 Y(\lambda) - \lambda y(0) - y'(0) + 9Y(\lambda) = 10\left(\frac{1}{\lambda-2}\right) \Rightarrow$$

$$\lambda^2 Y + \lambda - 5 + 9Y = \frac{10}{\lambda-2} \Rightarrow (\lambda^2+9)Y = \frac{10}{\lambda-2} + 5 - \lambda \Rightarrow Y(\lambda) = \frac{10}{(\lambda-2)(\lambda^2+9)} - \frac{\lambda-5}{\lambda^2+9}$$

$$= \frac{10/13}{\lambda-2} - \frac{10/13\lambda + 20/13}{\lambda^2+9} - \frac{\lambda-5}{\lambda^2+9} \Rightarrow y(t) = \frac{10}{13}\mathcal{L}^{-1}\left\{\frac{1}{\lambda-2}\right\} - \frac{10}{13}\mathcal{L}^{-1}\left\{\frac{\lambda}{\lambda^2+9}\right\} - \frac{20}{39}\mathcal{L}^{-1}\left\{\frac{3}{\lambda^2+9}\right\}$$

$$- \mathcal{L}^{-1}\left\{\frac{\lambda}{\lambda^2+9}\right\} + \frac{5}{3}\mathcal{L}^{-1}\left\{\frac{3}{\lambda^2+9}\right\} = \frac{10}{13}e^{2t} - \frac{10}{13}\cos 3t - \frac{20}{39}\sin 3t - \cos 3t + \frac{5}{3}\sin 3t \Rightarrow$$

$$\underline{\underline{y(t) = \frac{10}{13}e^{2t} - \frac{23}{13}\cos 3t + \frac{15}{13}\sin 3t}}$$

$$4 \quad \mathcal{L}\{y''\} + 4\mathcal{L}\{y'\} + 4\mathcal{L}\{y\} = \mathcal{L}\{u(t-\pi)\} - \mathcal{L}\{u(t-2\pi)\} \Rightarrow$$

$$\lambda^2 Y - \lambda y(0) - y'(0) + 4(\lambda Y - y(0)) + 4Y = \frac{e^{-\pi\lambda}}{\lambda} - \frac{e^{-2\pi\lambda}}{\lambda} \Rightarrow$$

$$\lambda^2 Y + 4\lambda Y + 4Y = \frac{e^{-\pi\lambda} - e^{-2\pi\lambda}}{\lambda} \Rightarrow Y(\lambda) = \frac{e^{-\pi\lambda} - e^{-2\pi\lambda}}{\lambda(\lambda^2+4\lambda+4)} = \frac{e^{-\pi\lambda} - e^{-2\pi\lambda}}{\lambda(\lambda+2)^2} \Rightarrow$$

$$y(t) = \mathcal{L}^{-1}\left\{e^{-\pi\lambda} \cdot \frac{1}{\lambda(\lambda+2)^2}\right\} - \mathcal{L}^{-1}\left\{e^{-2\pi\lambda} \cdot \frac{1}{\lambda(\lambda+2)^2}\right\}$$

$$\rightarrow \frac{1/4}{\lambda} - \frac{1/4}{\lambda+2} - \frac{1/2}{(\lambda+2)^2} \doteq F(\lambda) \Rightarrow f(t) = \mathcal{L}^{-1}\{F(\lambda)\} = \frac{1}{4} - \frac{1}{4}e^{-2t} - \frac{1}{2}e^{-2t}t$$

$$y(t) = f(t-\pi)u(t-\pi) - f(t-2\pi)u(t-2\pi) \Rightarrow$$

$$y(t) = \left[\frac{1}{4} - \frac{1}{4}e^{-2(t-\pi)} - \frac{1}{2}e^{-2(t-\pi)}(t-\pi)\right]u(t-\pi) - \left[\frac{1}{4} - \frac{1}{4}e^{-2(t-2\pi)} - \frac{1}{2}e^{-2(t-2\pi)}(t-2\pi)\right]u(t-2\pi) \Rightarrow$$

$$y(t) = \frac{1}{4}\left[1 - e^{-2t+2\pi} - 2(t-\pi)e^{-2t+2\pi}\right]u(t-\pi) - \frac{1}{4}\left[1 - e^{-2t+4\pi} - 2(t-2\pi)e^{-2t+4\pi}\right]u(t-2\pi)$$